1. oA A iR uin e fpg g s e? | 1. International Kite Festival’ is celebrated

(1) _ 14 S every year in Gujarat on which day ?
ot ORI (1)  14% January
e - (2) 14t December
Pl TR (3) 14t November
@) 14w (4) 14t February
(5) W AE < AR (5) Not attempted
2. afswrg sie (fafan smifrsw) FHERFHIFE IS : | 2¢ The world of living organism is known as :
(1) S LIGED (1) Molecular
(2) REWIEE A : () Atomic
3 s ' ' ' (3) Abiotic
S . (4) . Biotic
(4) @ o (5) Not attempted
(5) W <Ted
: " & oo 2 : 3. Which two States/Union Territories among
3. frefafed & ff W/aiﬁﬂilihii Tl T T the following share a common High Court ?
’ I AR § ? . ool (1] Punjab and Haryana
(1)  OsTE AR @ . (2) Delhi and Haryana
@) festt aix gfamn : (3) Bihar and Jharkhand
ﬁﬂl—b’ﬂ. s (4) Rajasthan and Gujarat
:z; o s (5) Not attempted
(5) SW T <1 e 4. How many FundmentaI‘Mghts are there in
. 3 Indian Constitution ?
4. WA Hfaum ¥ e oo Hifees sty § 2 (1) . Three
(1) = (2) Six
(2 ® ' : (3) Seven
(4) Nine
ii], :‘m o (5) Not attempted
(5) TR T S A 5. Kalinga is the ancieﬁt name of which one of
. . the following state ?
5. frefoted § & R T 1 W1 T AT 22 (1) Karnataka
(1) FAER (2) Bengal
2) = . (3) Coastal Odisha
s 8 ; (5) Not attempted
(4) drHETg |
(5) IR S 6. In which year was the 7™ Economic Census
6. 7et sufdie SR fr ad frif 1 ? s by
2 (1)
2022
Ezlz; 2018° 2 - (2) 2019
{3) 2021 . @ 2021
- (4) 2018 o v (4) 2018
(5) SW & o1 =R (5) Notatte mptpd : _
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AT H SRS il Fet Toha yfaea &2 7. What percent of oxygen is present in the
(1) 3% atmosphere ? .
2 71% (1) 3%
(3) 78% 2) 71%
-4 21% (3) 78%
(5) ST TR A = @) 21%
(5) Not attempted
g, YT T WRACgS R W A #
(1)  THFHS 99 G drse 8. ‘National Rural Livelihood Mission’ has been
. renamed as :
Q) WS & AN " i
5 ; (1) Pradhan Mantri Gram Sadak Yojana
-1 AN (2) Pradhan Mantri Awaas Yojana
(4) 31’7‘!‘1}31f - (8) Deendayal Antyodaya Yojana
(5) SRR <A =R (4) Annapurna
(5) - Not attempted
9. TEMIR &I SHd TVl 71 2
(1) 354 il TR 9. What is the average salinity of an ocean ?
(2) 25 90 Ui 8SIRK (1) 35 parts per thousand
-(3) 75 4 ufd 9 (2) 25 parts per thousand
(4) 20 9 i B9 (3) 75 parts per thou_sand
5) W S e (4) * 20 parts per thousand
(5) Not attempted
Y . A R SR 12 10. Who among the following was the last Mughal
(1) R , Emperor of India ?
(2)  SIRIGUIR ST (1) Jahangir
3) SmsE (2) Bahadur Shah Zafar
(4) ST (3) Aurangzeb'
(5) T < =R (4)  Akbar
(5) - Not attempted
11, F-wr Oea/Shaead 9 AR e’ F AW R
oft S S 2 2 11. Which State/Union Territory is known as
& t ‘Crown of India’ ?
o (1) Punjab
Q) T (2) Delhi
@) e e (3) Himachal Pradesh
@) T FER (4) Jammu & Kashmir
5) T < = (5) Notattempted _
TNAVH/H4 Page 3
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s

12. T=fafes 4@ ==-a Wmmmm% 12: Whitll(i} one of the following is India’s Central
3 s et 5 banking institution, which controls the
N ?smz“aﬁ S =nf%r e 'f o ) monetary policy of the Indian rupee ?
(1) R e B AT ST (S Saeie (1) National Bank for Financing
(NABFID) Infrastructure and Development
(2) uRdE T2 ¥ (SBI) (NABFID)
3) uRdE fisE 9% (RBI) (2) State Bank of India (SBI)
@) fordg dan faam (DFS) (3) Reserve Bank of India (RBI)
ff 3 (4) The Department of Financial Services
(5) TS < =R - (DFS)
_ (5) Notattempted
13. &MF yom 94 THEF 9 =N sfieal & e 9
ST e ST L g ? 13. Who was the first Mauryan ruler who tried to
(1) 9F take his message to the people through
Yo inscriptions ?
() fEgER () Ashoka
(8) =R (2) Bindusara
‘(4) ﬁ?{f['ﬁ (3) Chanakya
(5) IR oA AR (4) Chandragupta
‘ (5) Not attempted
14. % T Frefafed § @ frg o0 =1 a7 82
' 14. Rouf Dance is a famous folk dance form of
(1) T which one of the following States ?
(2) S FER (1) Rajasthan
(3) WYY 2) Jammu & Kashmir
(4) ST TR (3) Uttar Pradesh
(5) W e & e (4) Andhra Pradesh
(5) Not attempted
Targd § fraffad 9ee Y 1 Fel e ?
8 =N " 15. In a Gram Panchayat, what are the elected
(1) wfa members called ?
(2) iR (1) Secretary
(3) dS W& (99) (2) Councillors
-(4) TG (3) Ward Members (Panch)
T (4) Sarpanch
Br EE TN ) (5) Not attempted
Tafan ﬁ-{;.gﬁ ?
= LAt 16. Malaria is caused by :
+(1) o (1) Protozoa
(2) el | (2) Bacteria
(3) foerg (3) Virus
(4) IR (4) Fungi
(5) ST R (5) Not attempted
‘TNAVH/H4 <% 1 3 618 Te / SPACE FOR ROUGH WORK Page 4
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17. T“-ﬁﬁ

18.

19.

20. mﬁwwﬁ%ﬁqwﬁﬁ@m%l_

— ER/AR Sl A
T TS & e et oredt ¥
(1) Terwefa
(2) Yo T O
(3) . weRE
(4) I R HivHTd
(5) S TE N e

et ¥ /% g S Frefemf 76 §2
(1) FAFHIS '

@ F

@) HEfe=
@ T

(5) IR <A 9

w7 Tt Tt | Bre i vara ot o £ A
gz feard 3o ¥ fore 1 % e F aifes
CER G

(1) S
(2)
(3) diem
(4) e
(5) SR o =ed

17.

18.

19.

The blood has which fight against
germs that may enter our body.

(1)  Haemoglobin

(2)  White blood Carpuscles
(3) Platelets

(4)  Red blood Carpuscles
(5) Not attempted

Identify the non-biodegradable item from the
following :

(1) Woollen clothes

(2) Paper
(3) Tin cans
(4) Wood .

(5) Not attempted

When a white light passes through a prism, a

spectrum is observed. Which colour of light
bends most ?

(1) Violet
(2) Red

© (38) Yellow
(4) Blue

(5) Not attempted

20. Pure gold is not suitable for making jewellery.
WW%@@WW#WW N i;?cealiltoiﬁdwflg: making ornzlj;ﬂents. °
M m I 21 (1) Aluminium, Copper
«i3) W’ et (2) Silver, Aluminium
) =, Tt (3) Zinc, Silver
@) f=, =i (4) Silver, Copper
@ =, q-r (5) - Not attempted
(5) T < A=A
iy am__@m%a#}ﬂug&aamw‘é‘l 21.' Egz;is a because it only eats
(1) waei (1) Cattle
(2) vmRRM (2) Herbivore
() HERR (3) Carnivore
4) waREm (4) Omnivore
(5) I e EEd (5) Not attempted
TNAVH/Hg % Bl o 10 Z2iTer / SPACE FOR ROUGH WORK Page 5
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22,

23.

24,

frefafes & 9 FF-w tdamifes £ 2

(1) ==

) Hifegm aEEEN

-(3)  wEERE

(4) oTTHRA

(5) ST G & =

e gen o7 Frfafan ¥ ¥ g o @ g €2
(1) weF feE & SR

(@ TN

(3) U eeH |

((4) R (F=) Fifveet § gfg e |
(5) SRRl < =med

fereafefiar ¥ @ 1 a1 Hereofta I 7 &2
(1) ufees (&=dm)

-(2) AYEE

(3)

(4) B A (e aie)

(5) ST o1 =R

e S o i wiman g Frefatad | @ fawet/

22.

23.

240

Which of the following is an antibiotic ?
(1) Yeast

(2) Sodium bicarbonate

(3) Streptomycin

(4)  Alcohol

(5) Not attempted

The dough of bread rises because of :
(1) Fine grinding

(2) Kneading

(3) Salting

(4) Growth of yeast cells

(5) Not attempted

Select the non-communicable disease from
the following :

(1) Tuberculosis
(2) Diabetes

(3) Cholera

(4) Chicken pox
(5) ' Not attempted

25. 25. For the process of rusting of Iron, the presence
! faramd TS € 2. of which is required ?
(1) o dd (1)  Oil only
(2) A A (2) Water only
3) Fael SAfdsH (3) Oxygen only
: (4) STt 33 atfadis ST (4)  Water and Oxygen both
(5) I® TRy (5) Not attempted
6. FrefefEa i@ N N W.@; AEE? 26. El;igcfozge?of_ the following does not belong to
(1) T T (1) Mountain goat
«2) fem dgen (¥ e) (2) Snow leopard
(3) fewor - (3) Deer
() == “(4)  Yak
(5) I T AR (5) Not attempted
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7. Siem-1H € T =S F vy wiem-n & fRw g

wral =1 o sifsu)

FHieT-1 Hiem-11
(a) ™ (i) = A9
(b) ECH (i) =T
() T (i) T a1 uiEe
(@ HEE (FEH)  (iv) S e

T Taehed 1 577 Fife

(1) (2)-0), (b)-(ii), (0)-Gi), (d)-(iv)
(2)  (a)-(i), (b)-(iv), (c)-(), (d)-(iii)
(3) (a)-Gi), (b)-(), (0)-(iii), (d)-(iv)
@) (a)-(1), (b)-(ii), (c)-(iv), (d)-(iii)
(5) o T <N =

29,

30.

TNAVH/Ha

e 1 4 a9 3 i o 29
A1) AT

(2) H

3 94

(4)

(5) e T 21

[afen 1 qaivre it gat @ qvaarm frefafaa
# @ feprer T g € ?

(1) VeI 1 AgHSHE Tad

(2) T Wt (feee wamE)

J(3) VeIV I ATYHEEIT SYEA

(4) o srfafier e

(5) SR TRl 3 AR

et = gafea ®X :

1 (aey) 11 (were )

(&] q?{ [1] TS

b =S (i) ¥TH@

(€) Tegw (i) =HE

@ Frem (iv) TS

& fereq w1 w37 S|

(1) (@)-(iv), (b)-(), (c)-(i), (A)-1)
@ (a)-(i), (b)-0) (©)-GV), (@)-G)
B)  (a)-(ii), (b)-(iid), ()-(0) (d)-CV)
@) (a)-(i), (b)-Gv); (©)-0) (@)
(5) S & =

27.

28.

29,

30.

Match structures given in Column-I with
functions given in Column-IIL

Column-I Column-II
(a) Stomata (i) Absorption of water
() Xylem (ii) Transpiration
(c) Roothairs (iii) Transport of food
(d  Phloem (iv) Transport of water

Choose the correct option.

(1) (@), (b)-(ii), (c)-(i), (d)-(v)-

“2)  (@)-@), (b)-(v), ()-{), (d)-({i) -

3)  (a)-(), (b)-(i), (c)-(iii), (d)-(iv)"
@) @-0), (b)-(i), (c)-(iv), (d)-(iii)
(5) Not attempted

Short plants with green and tender stem
having few branches belong to the category
of:

(1) Climbers

(2) Herbs

(3) Trees

(4) Shrubs

(5) Not attempted

Advance sunrise and delayed sunset is
because of the phenomenon of :

(1) Atmospheric Reflection of light
(2) Scattering of light (Tyndall Effect)
(3) Atmospheric Refraction of light
(4) Total Internal Reflection

(5) Not attempted

Match the following :

I (Objects) II (Materials)
(a) Shoes (i) Paper
(b) Table (ii) Steel
(c) Notebook (iii) Leather
(d Tumbler (iv)  Wood

Choose the correct option.

(1)  (a)-(v), (b)-(i), (c)-(ii), (d)-(i)
(2)  (a)-(id), (b)-(i), (e)-(iv), (d)-(ii)
(3)  (a)-(), (b)-(ii), (c)-(i), (d)-(iv)
4)  (a)-(ii), (b)-(iv), (0)-(1), (d)-(i)
(5) Not attempted
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31.

(3)

A, B, C, D, E 991 F ST #i 3R Hg %% TF Uiea 4
TEE, A oavas T e fe s wn i E | B iR
FTRAGIAM A M B FR®E o, AF
dF AR AR T B B FIF AR FA TR ?
(1)
(2)

O U= o

(4)
(5) T FE <A =R

32. 4 IS S1erdl % HE i SFerafead wn H e

%1 dens F 39 FhASH w1 99 $ faaE SaER
el 1 Hafedd F T TF A4yl = =7 |

E L P I O <C

1 2 3 4 5 6

(1)  3,4,5,2,6,1

2 2,1,5,4,3,6

‘3) 3,52,4,6,1

4) 3,5,2,6,4,1
(5) TG o =Rd

33. T HYA ok IuF T 8 frewd 1 s 1 fawmu €)1 fou

-(1)

MU HYF T WA §C AR 9 WA F@ qed |
fim & i 7 wia e 9, Fola F fw FE @A
foreerd fw MO el 3 SR R aehETa w9 H e
B/ §2?

H : FO T T ¢ |
F9 e A 6 |
frepd: L Wt o E )
0L $SFa sl
7 ar forswd 1 3R & 11 e €1

(2) et fremd 1 frreheta €1

3) o Frrend 11 Freera 21
4) firepd 1 3 11 9 Frehed © 1
(5) SRR TR o wed

31.

32.

33.

A,B,C,D,EandF are standing in a row facing
North not necessarily in the same order.
and F’ are in the centre, and ‘A’ and ‘B’ are at
the ends. ‘C’ is standing on the immediate
left of ‘A’. Who is standing on the immediate
right of B’ ?

1) E
(2) F
3 D
@4 C

(5) Not attempted

A set of English letters is given below in a
jumbled order. Select the combination of
numbers so that the letters arranged
accordingly will form a meaningful word.

E L P I (o) C
1 2 3 4 5 6

(1) 3,4,5,2,6,1
@2 21,5,4,3,6
(3) 3,5,2,4,6,1
4 3,5,2,6,4,1
(5) Not attempted

Two statements are given, followed by two
conclusions I and II. Assuming the
statements to be true even if they seem to be
at variance from the commonly known facts,
decide which of the conclusions logically
follows/follow from the given statements ?
Statements : Some flowers are roses.
Some roses are red.

Conclusions: L All roses are flowers.

I. Some flowers are red.
(1) Neither conclusion I nor II follpws.
(2) Only conclusion I follows.
(3) Only conclusion II follows.
(4) Both conclusions I and II follow.

(5) Not attempted

T PRI & TeTT 22T / SPACE FOR ROUGH WORK Page 8
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34, A THAR F WRY X 9t Rt g0 fi 3 weM A | 34 If every second, fourth Saturdays and all
T TR, Y AR T g R ) sEE o Sundays are holidays in a 30 days month
3 99 TE 1§ fead ) beginning on Sunday, then how many
Frafee € ; working days are there in that month ?
(1) 223 (1) 22days
(2) 23f\ (2) 23 days
@ 21fd (3) 21days
(4) 24f (4) 24 days
(5) ST I W (5) Not attempted
35, THIERTIEHH P, Q) R, 'R TE P | 385. P, Q), R, ‘S’and T’are five persons of a family.
IR TR-TE T T, Q’ +EE/ARL S, T P’ and R’ are brothers. ‘T’ is uncle of ‘Q”. ‘S’
FY I Q, R a7 &1 P, 'S’ ¥ FFY TR is the son of T”. ‘Q’is the sister of R’. How is
G ! ‘P’ related to S’ ? :
Heifed 2
(1) T/ (1) Uncle
2 Broth
@ (3)) F‘H:h .
ather
(3) T i 5 it
ousin
C(4)  TEU/HET R -
(5) Not attempted
(5) SR TR S =R -
: . ; 36. In a certain code language PHYSICS’ is
36. T fifv=d F2um™ ¥ PHYSICS’ #1 RJAUKEU’ written as RIAUKEU’. How will BIOLOGY’ be
for@1 < £, @ ‘BIOLOGY’ %1 SHT Fesm il § il written in that code ?
Ter@r = ? (1) DKQPQJB
(1) DKQPQJB (2) DKQMQIB
(2) DKQMQIB (3) DKQNQIA
{3) DKQNQIA
(4) DKQOQUA @l ;BEeas
(5) S T =T (5) Not attempted
37. SHYMS-F™ H =T =¥ forat] o= 39 IR Hefeg | 37. Choose the pair of words in which the words
¢ are related in the same way as in the given
T i feg g T AT pair of words.
e ; eAferatedt Bachelor : Spinster
(1) 3u-foes : e (1) Tutor : Teacher
2) feen : SiRd (2) Lady:Woman
-(@) st ; EE (3) Horse : Mare
(4)  warfadt : & (4) Nun : Sister
(5) TR E & AR (5) Not attempted
TNAVH/ Hq 2% B o feTU %217t / SPACE FOR ROUGH WORK Page 9
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38.. & T Y@en ¥ < U 9 Hifww)
4,27, 16, 125,36, _2 , 64,729

(1) 512
2 121
3) 216
.(4) 343
(5) IR I =

39. faum = 997 =ifew|

(1) IE®
2 s
(38) HH
@ ™
(5) ST TEl < =R

40. F@ 90 "X Y4 H AR =@ 1 @@ 9 9%
60 T 4is ufv=m it 3R Jera1 § | 39 ae gg e
qEH 40 Wi Iadl €1 F€ AW IRfuF fog @

Aot o R e # # 2
(1) 60 ¥, &
(2) 30 HRE, IW

(3) 40 Hiex, sw-ufyed
«(4) 50 TR -4
(5) W I =R

41. TF Td F AAEA 460 51 . §1 AfE SEHT AT,
ZEe! 9ISk | 15% 3iftes ®, df o1 A 9 1@ =i

38.

39.

40.

41.

Find the missing term in the series.

4,27, 16,125,36, 2 64,729

(1) 512
(2) 121
(3) 216
(4 343

(5) Not attempted

Find the odd one out.

(1) Book
(2) Pencil
(3) Pen

(4) Eraser

(5) Not attempted

Kunal walks 90 metres towards East. From
there he walks 60 metres back towards West.
Then he turns right and walks 40 metres.
How far and in which direction is he from his

starting point ?

(1) 60 metres, East

(2) 30 metres, North

(3) 40 metres, North-West
(4) 50 metres, North-East
(5) Not attempted

The area of a rectangle is 460 sq.m.

If the

length is 15% more than the breadth, then
which among the following is the breadth of

E';[Tg’lﬁ A E? the rectangle ?
«(1) 20 Hi= (1) 20 metres
@ 157 @) * ‘15 metres
(3) 26H (3) 26 metres
(4) 34.5H=H (4)  34.5 metres
(5) IR T o = (5)  Not attempted
TNAVH/H4 % el % fete 2211 / SPACE FOR ROUGHWORK Page 10
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42.

M (a+Db) F110% = (a—b) F1 50%, dra: b2

(1) 3:2
@ 1:2

3) 5:2

4 2:3

(5) SR TR < wE

42.

If 10% of (a+b)=50% of (a—b), thena : bis:
1) 32

(2 1:2
3) 5:2
4 2:3

(5)  Not attempted

43. i fafis Semsti 1 L.e.M. 120 21 firer emaii '
-P{ ¥ 34 & 9 T 9 Semed H.CF. 78 & 43. The L.C.M. of three different numbers is 120.
) -C.F. Which of the following cannot be their
Hehdl H.C.F.?
(@) 8
@) 12 S
4 24 a2
(5) W TR & = ik
(5) Not attempted
44. ¥ 28.80 9fd foh.am. a1 3i ¥ 22.80 wfiy fpm, a9
=ed fFa eruE o faemd WU ares Ty @5 T 44. In what ratio, rice at ¥ 28.80 per kg and rice
% 25.20 Wf BRI, B W 2 _ I at ¥ 22.80 per kg be mixed to get a mixture
worth ¥ 25.20 per kg ?
(1) 5:3
2 1:3 W+ %58
i 8 e 2 1:3
P @ 2:3
(5) W MR - i 8:4
. - " (5) Not attempted
45. T Al T i 1 15 fed W QU A aeha € | 36k
ﬁmaﬁﬁ]ﬁﬁﬁ@ﬁﬁﬁ,QO fem1 o € S 39T | 45. A man can do a job in 15 days. His father
A 25 fm A U T Hehal & | dil (HeTh HH ;%kgs QOI_;iays and his son finishes it in
= ; s o ays. How long will they take to compl
, 39 P B T FHA F e W SiE the job if they all work togc)::her ? mpiete
1) 7f= (1) 7days
@ efma=w (2)  less than 6 days
(3) \1‘1‘ 6 faq (3) exactly 6 days
‘@) T 6.4 fe (4)  approximately 6.4 days
(5) W TE A == (5) Not attempted
e
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46. T R ® MaFSAIE2:3: 4 ) TEH i aa | 46. The speeds of three cars are in the ratig
[ i ¢ 2 : 3: 4. The ratio between the time taken by
1, $ i g o T T § ST B : these cars to cover the same distance is :
‘(1) 6:4:3 M) 6:4:3
2) 2:3:4 -
2 2:3:4
B) 4:3:2
3) 4:3:2
4 4:3:6
4 4:3:6
(5) U E oA 9Rd
(5) Not attempted
47. A% 63,000 T H TH AR A0 fF1| F9
: . 47. A started a business with ¥ 63,000 and is
HHA T 1,08,000 T HB %wﬁm@m’? joined afterwards by B with T 1,08,000. After
F A | ARG I F FAd H Y SeR-awer |92 8, q how many months did B join if the profits at
foha W % &1% B A WEGR! &l 2 the end of the year are divided equally ?
(1) 6 (1) 6
(2) 3 2) 3
3) 4 3 -4
4 S @ 5
(5) SR TR <A1 =R (5) Not attempted
48. ¢ 8,000 ﬁ T 10% anfties TsRgfa =99 W fe | 48. In how many years will a sum of ¥ 8,000 at
gEI T 9,261 B S, Sefes =4St Ui SHIE! QAT 10% per annum compound interest,
d compounded semi-annually become ¥ 9,261 ?
BT ? :
1 (1) 2 -
- Years:
1 25 27
1 11
@ 1z (@) +3 years
1 3 -1l
3) 15 1 (38) 5 years
1 Ql
(5) I TE & 9 (5) _ Not attempted
TNAVH/H4 3% BT & foTE 22 / SPACE FOR ROUGH WORK Page 12
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49. Th TP o, B w1 e i BEET 5 g o | 49. IE a school, the 1"atio of the number of boys_. to
. Rt sy et € | e el e i comen 7. o
; ys are there in the school ?
(1) 1000 (1) 1000
(2) 1800 @) 1800
(3) 1500 @) 1500
'(4) 1200 4) 1200
(5) W Tl < HRd [S) Not attempted
50. W 14 x 627 + V1089 = x3 4+ 141 & A xH 50. If 14 X 627 + 1089 = x> + 141, then the
AT value of xis :
@) S (1) 5
2) 125 2) 125
B 55 B) 55
3 25 @ 25
(5) ST <A A (5)  Not attempted
51. 50 W@l 1 37w 38 ¥ AfX QA Wemed 45 70 | 51, The average of 50 numbers is 38. If two
55 &I gl fear Eﬂ-g;?h ATeh! ot GEAaT w1 3T 4 numbers 45 and 55 are excluded, then what
a2 : . will be the average of the remainigg
numbers ?
(1) 37.52 (1) 37.52
(2) 36.5 2) 36.5
@) 37 @) 37
J(4) 37.5 (4) 375
(5) SR TRl <A = (5) Not attempted
52. "‘Tﬁl’ﬁ'ffﬁ uf¥r 10 ﬁﬁm@m% T TR =31 52. Ifa sﬁm becomes its double in 10 years, then
Haffr e D .‘!:he annual rate of simple interest is :
(1) 20% (1 20%
@ 8% i 8%
@) 5% 3 5%
‘@ 10% 4 10%
: (5) SwR & & 9 e (5) Not attempted
TNAVH Ra T Il 17U 771 / SPACE FORROUGH WORK. Page 13
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53. TV A W A TheX T 4,700 H @l 3R gHHI

53. Harish bought an old Scooter for ¥ 4,700 and
spent ¥ 800 on its repairs. If he sells the
HOHG W ¥ 800 WE fFwl ARk 9w T R F Scooter for ¥ 5,800, his geir peroent is :
% 5,800 H a9 T SHH oY Ufewa ¥ :
1) 12%
(1) 12%
4
2)  4—%
@ 4% S &
5
5—%
@) slél-% @ So%
(4) 10% (4) 10%
(5) AL < AR (5) Not attempted
54, R 3AM. M TE S A M. I UG F T | 54. A solid metallic c.:y]inder of base radius 3 cm
= Fer F FIEEER UF T Ao T and height 5 cm is melted to form cones, each
?ﬂg E:; , wﬁ 8 of height 1 cm and base radius 1 mm. The
! lagaﬂ ?,r-E" 3 " 1 fasfl. §1 9 R number of such cones is :
NET deng: A
(1) 13500
(1) 13500
(@) 450 (2) 450,
(3) 1350 (3) 1350
4) 4500 ) (4) 4500
(5) ST AR AT =ed (5) Not attempted
55. 3% 4, 0, 3, 7 Q T A 4-3HA IE--9E q | 55. The greatest 4-digit and the smallest 4-digit
FEA-Y-BE &AW FAI: € (Y 37 Th @l numbers formed by the digits 4, t?,- L;;, 7 (each
digit used only once) are respectvely :
(1) 7430, 3047 (1) - 7430,3047
(2) 4370, 4307 (2) 4370,4307 .
(3) 3740,3047 (3) 3740, 3047
(4) 7403,3704 (4) 7403,3704
(5) ST e (5) Notattempted
' e - ' e 14
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56. Pick out the part of the sentence which has
an error. If there is no error, your answer is

(1).
The property / was divided /
(A) (B)
among the two brothers .
\®)
(1) No error
@ @)
B @
-@  (©
(5) Not attempted

57. Rearrange the following parts of a sentence
labelled -as PQRS to make a meaningful
sentence.

P - optimism is essential
Q - it is also the
R - foundation of true progress

S - to achievement and

58.

59.

Choose the correct passive voice form of the
following sentence.

He was writing a book.

(1)

(2)
@)
(4)

(5)

A book was being written by him.
A book is written by him.

A book was being written by me.
He has written a book.

Not attempted

.Select the alternative which best describes

the underlined idiomatic expression.

You may rush from pillar to post, but yoﬁ

stand no chance of getting what you want

without hard work.
(1)  go to many offices and post lettérs
«(2) be very busy
(3) rush m all directions and suffer much
harassment
(4) go to all post boxes and post offices
(5) Not attempted

-60. Pick out the corfectly spelt word.
(1) RQSP
(1) tempestus
(2) QSRP
(2) tampestuous
(3) PQRS ;
. (8) tempestuous —
-4) PSQR
‘(4) tempastuous
(5) Not attempted_ (5) Notattempted
TNAVH/ H4 3% 1 o feTu Zmer / SPACE FOR ROUGH WORK
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i : tive to improve the
. . . Choose the correct alternative
s e i - underlined part of the following sentence. If

no improvement is required, your answer is

Time and tide for none. 1)
(1) waiting
You will face many defeats in life but never
e e let themselves be defeated .
(3) waited

(1) No improvement
«(4) waits

(5) Not attempted ' (2) themself defeated

_ .(3) yourself be defeated
62. Find out the synonym of ‘proclaim’. '

(1) license . ' (4) yourself be defeating

(2) progress - : ' (5) Not attempted

(3) advance
-(4) declare

(5) Not attempted 65. Choosé the alternative which best expresses
the given sentence into direct speech. |

63. Pick out the antonym of the underlined word He told the boy not to sit there.

‘in the following sentence.
- ~(1) . He said to the boy, “Don’t sit here.”
He was afraid of losing the match.

a1 confdent (2) He said to the boy, “Didn’t sit here.”
itant

(2) hesitan (3) He said to the boy, “Don’t sit there.”
(3) mnervous

(4) He said to the boy, “Didn’t sit there.”

(4) shaken
(5) Notattempted ~ (5) Not attempted
TNAVH/ Ha < T 8 feTC 22Tt / SPACE FOR ROUGH WORK Page 1
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66. ST TAH T WA WAL AT W € : | 71, ‘< gen’ A ¥ o weifie Sged T T E
(1) HIY FHREF H (1) fama
<(2) AU HERE () fria
(3) = FREH = @ W
(4) =0 HRE H @ T |
(5) SR =R (5) ST ¥ =
°r Eﬁgﬁgﬂ?ﬁmﬁmﬁ@wﬁ% 72. ‘e’ ¥R 1 Haife SUga THEETEl I § ¢
(1) oo wner 37 hel T S 2 (1) @
2 FMHRAM@WEI @
3) TFTIMWH! -(3) w
(4) N, T gl SR Wl e T Hehar | (4) e
(5) ST AE o =R (5) WA I =R
6 ;‘;I:rﬂs?ﬁﬂ@il;ﬁmawm"lﬁhﬂﬁam 73, ‘g FAEA TR EIR:
Yk I9gT A | |
(1)~ Irit dnft € S ® deft fag T2 A g @ ;Zr
{(2)  STYAT ST BT & AR 1 AL H1 el 1 @)
@) Tehe o1 ot =fed 9 T 9T E, W A @ e
ket 4) T
(4) ‘Emﬁamﬁmaﬂt%aﬂtqq‘tﬁamaﬂn (5) SR TR o =Rd
(5) ST E <A =Rd _
74, ‘fauem ¥ aiffs wécgg 990 & TN 9 6
69. ‘I’ Yord | S AT Wiy ST VR € - rEifera 3tw &) waifus suge wi-fasse €
(1) = | (1) He+3iad -
(2) wiftFE - 2) R+
(3) AR (3) HEIEE
() ate | (4) T
6) SR T (5) SRR SN =R
o ey L R 75. o Ty fFe v H R S w9 E2
1) K. R
(2) e @ W
@) T fEard (3) FE
(4) SERTEH (4) g
(5) S S 5) IR |
TNAVH/H4 ¥ el & fere zerer / SPACE FOR ROUGH WORK Page 17
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76. et - 19 fu M wemEiE gAqwl A ogE - 0

whiwfera foat & @y gafaa HifEg)

gl -1 et - 10
() THUSER (i) 9rFa-
b) TEH (i) =Gt SRl
(c) Ueaw (i) Te=Te
(d Niv) e

Y fow T HIS H ST FW 5 W IR GA ¢
(1)  (a)-(iii), (b)- (wl (c)-(i1), (d)-(i)
2)  (a)-(iv), (b)-(ii), (c)-(i), (d)-(ii)
(3)  (a)-(ii), (b)-(iv), (c)-(1), (d)-(ii)

(4 (@-v), (b)-(iid), (c)-(ii), (d)-(i)

76.

Correctly match the Administrative Divisions
in the List - I with the Districts included in

the List - II.

List-1I List - II
(a) Faridabad (i) Panipat
(b)  Gurugram (ii) Charkhi Dadri
(c) Rohtak (iii) Mahendragarh
(d) Karnal (iv) Nuh

Select the correct answer using the code
given below :

(1) (a)-(ii), (b)-(iv), (c)-(i), (d)-()

(2)  (a)-(iv), (b)-(iii), (c)-(), (d)-(i})

(3)  (a)-(ii), (b)-(iv), (c)-(i), (d)-(i)

@) (a)-(iv), (b)-(iii), (c)-(i), (d)-()

(5) ST S W (5) Not attempted
- (1) 12 TR P ST o a7 77. How many Lok Sabha constituencies are there
2 9 ‘in Haryana ?
.3 10 (1 12 ‘
4) 11 @2 9 |
(5) SO &= g; 1(1) ‘
78. Tr=fafas § | s 1 s S TS (5) Not attempted ‘
T EHT W T Hdl € 2 ‘
(1) e 78. Which one of the following districts of Haryana
; -does not share border with Rajasthan ? |
@ T . (1) Mahendragarh ‘
(3) TeTH (2) Sirsa :
4) Tt ' (3) Rohtak
C(5) SRR ST AR (4) Bhiwani
; o (5) Not attempted
79. WG # U WA GhHF AT T IS Fel ST ¥ 2 |
(1) "‘(ang'} 79. The only surviving steam Loco Shed in India
(2] qFﬂ-qa isin :
(1) Rewari
(), - S (2) Panipat
(4) HHad (3) Ambala
(5) SO AT =R (4) Sonipat -
= &5 1 Fa fen g IR o . (5)  Not attempted
fem g2 80. Which one of the following is the
(1) FIA northernlmost district of Haryana ?
(2) FHTTR Eé; Kaithal
) . - Yamunanagar
(3) TEFTH (3) Panchkula
@) T (4) Kurukshetra
5) S| T S A (5) Not attempted
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81. RN ¥ Frafafa faefedi § | fsgd 2020 &

TSR 1 o B ToT TR ST o ?
(1) geie $or
2) faor=foe
3) o wrwmme -
(@) S Hfew
(5) S TR & =
82. TRATN T | fRalt (Tr1wm) o vares §2
(1) 6500 ¥ fys

(2) 5000 - 5500
(3) 5500 - 6000
.(4) 6000 - 6500

(5) S| T I

83. AT A ‘= Fmion 1 wedt weeayof ¥ el
fem g2

(1) gt

) 9

.(3) U

(4) fom

(5) ST & WA

84. mmuﬁqﬁm(vﬁ@éﬁr)%aﬁﬁﬁmﬁiﬁﬁ

YAl W fo=R Fife :

(a) =N E ShugEd, W#Gﬁ@gﬁr@?ﬁq
{0

(b) Eﬁﬂmwﬁ\mw%aﬁ@@ﬁﬁ
FAEI

frfafad § 4 SF-91/9 w97 w98 8/3?
(1) A (a) ARTH (b)

(2) e (a)

-(3) %= (b)

(4)  (a) 3R (b) S
(5) SR o AR

85. T HAl ¥dT Hiew RAn # GHEei wel &5
' HIE EEY § ?

81.

82.

83.

84.

Who among the following players from Haryana
won Major Dhyan Chand Khel Ratna Award
20207

(1)  Sushil Kumar
(2) Vijender Singh
(3) Vinesh Phogat
(4) Deepa Malik
(5) Not attempted

How many (approximately) Village Panchayats
does Haryana State have ?

(1) more than 6500

(2) 5000 - 5500

(3) 5500 -6000

(4) 6000 - 6500

(5) Not attempted

Where is the most important Centre of
‘durrie’ making located in the State of

Haryana ?

(1) Bhiwani
(2) Sonipat
(3) Panipat
(4) Sirsa

(5) Not attempted

Consider the following statements about Gross
State Domestic Product (GSDP) :

(a) GSDP of Haryana is less than that of

Punjab.

(b) GSDP of Haryana is less than that of
Rajasthan.

- Which of the above statement/s is/are

correct ?

(1) Neither (a) nor (b)

(2) (a)only

(3)  (b)only

(4) Both (a) and (b)
(5) Not attempted

Mata Mansa Devi temple is home to which

85.
(1) 2= form of contemporary art of Haryana ?
‘2  vefem (1) Dhokra
(3) dRet Fen (2) Pattachitra
o T - 0 Moka
(5) I A ' :5) Not attempted
TNAVH/H4 % e & feTw Zrrer / SPACE FOR ROUGH WORK
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86. AN % T ve T2 86. Which is the State Bird of Haryana ?
(1) TeumdE a9 (1) Himalayan Monal
(2) e e (2) Black Francolin
3) W (G TrfEe) (3) Gre.at Hornbill -
i (4) Indian Bustard
*) W Wﬁ (5) Not attempted
(5) SR oA =9ed
87. =fen ¥ frg et 3§ fremm st foom 37 87. {(1)1(};1;;0;1 district of Haryana is Tilyar Lake
(1) e (1) Rohtak
() & () Kaithal
@) S (3)  Ambala
(4) W (4) Panipat
(5) ST S =R (5) Notattempted
88. i@ # ufq od *‘*fiar St Heema’’ #El WET | 88. Where in Haryana ‘Geeta Jayanti Mahotsay’
AT g? is celebrated every year ?
(1) gyl (1)  Sultanpur
(2) W '(2) - Kurukshetra
YEFIE (3) Surajkund
| g fifsit (4) Pinjore
(5) W = (5) Not attgmpted
89, W ¥ Y& 3wl whwel o whamw F ww |89 U o and water conservation i
fafaeiento iR Set e w 5@ 3t 8 2 Haryatia ? .
(1) wEH LEUSIE R IRE] (1) Pradhan Mantri Samman Yojana
(@) TR s wEa (2) Per Drop More Crop
(3) F T A fowEa - (3) Mera Pani Meri Virasat
(4) @ ufa st (4) Jal Shakti Abhiyan
(5) SR <A =Rd (5) Not attempted -
00. vFEE FI gfe ¥ g w1 9w A HA-4 M | 90. In terms of population size, Haryana comes
7?2 at what rank in India ?
(1) 19 (1) 19
@ 16 2) 16
@) 17 3) 17
4 18- @ 18
(6) 3w i S (5) Not attempted »
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91. fr=fafEd weml ® faur wifsw 91. Consider the following statements :
(a) EREET 7 gfem IS w1 v sifue oTw (@ A Polj;:fe:- Range Ifl. zlafyani lils headelzl 1;3;
-qaﬁaw ua’_ra an olllCcer no elow e ramn
3 ; ? S Tﬂ aTF T 2 ¥ Additional Director General.
(b) # U E“[“h%' g b There are five Police Ranges in
: (b)
I H G W/ AR /g2 Haryana.
(1) Fq (a) AL (b) Which of the above statement/s is/are
2) 99 (a ! correct ?
@) 3 ((b)] s (1)  Neither (a) nor (b)
4)  (a) 3R (b) 3 = bl
(3)  (b)only
(6) ST T D (4) Both (a) and (b)
92. T 1 walfire T AT IR HITHI § ? ) Notaltemited
(1) 3 92. Which is the most populous city of Haryana ?
@ T (1) Panchkula
) T (2) Rohtak
~(4)  HiEER (3) Gurugram
(5) SRRl <A =@Rd (4) Faridabad
: R '(5) Not attempted
93. wfEmn ¥ frw a4 ' Sdy efamn am seg de’’ '
& ohi TS ot 2 93. In which year was “Deenbandhu Haryana
(1) 2019-20 Gram Uday Yojana” launched in Haryana ?
(2) 2015-16 (1) 2019-20
g oo @ wisis
- 3) 2017-18
() SHH = (4) 2011-12
o - e Lo RS (5) Not attempted
&I ilaiﬂﬂilﬁt Eﬁq”’". SREIE!
w9 H S Trﬂ'rlT & 94. Who is known as the Shakespeare of Haryana
(1) THEE T and Suryakavi of Haryana ?
‘2) e A E () Ramsingh Nai
(3) dfed At (2) Dada Lakhmi Chand
(4) Syierer (3) Pt. Mangeram
(5) I T & A (4) Banshilal
; : _ (5) Not attempted
95. Y Hm Yok, STUCIE FX 2R W9 257 ST}
el Teg %2 95. Where is the National Academy of Custom,
‘(1) wieER Indirect Taxes and Narcotics located ?
() e (1)  Faridabad
G) 3 (2) Panchkula
. (3) Rohtak
4 feEr (4) Hissar
(5) S AR e =Ry (5) Not attempted
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96.

T 1 e, fred sfemn 2 ol v F =
wiia foan, fve od a2

(1) 1966
(2) 1961
3) 1962
4) 1965
(5) WA &A1 =R

97. Tr=fafEad w9 W fa=m wifsm

98.

(a) TN TOSH gt it T <t
(b) =N 3 AR SO e S |

IHEH H W B /A TG Y/E?
(1) T (a) FRAE (b)

(2) % (a) —

(3) = (b)

(4) () 3 (b) T

(5) I TE & =

Ta AR 3 T4 Tiarel 29 iR 19 v foe 3wyt
= el U o @R 1857 1§ SNl & WY 33
foran ? I

(1) UsaH

(2) TEfiergR fepem
(3)  STwEE
4) TR
(5) UL TE S =R
99, Ty M W forraa witaes Gueed frea €2
(1) T
(2) eIt
(3) TEH
(@) e
(5) U TG < =

100. =R =% Fel Rud §?

96.

97.

98.

99.

The reorganisation of Punjab that established
Haryana as a full-fledged State, took place in
which year ?

(1) 1966
(2) 1961
(3) 1962
" (4) 1965

(5) Not attempted

Consider the following statements :
(a) Haryana has never won Ranji Trophy.
(b) Haryana has won Irani Trophy once.

Which of the above statement/s is/are
correct ?

(1)  Neither (a) nor (b)
(2)  (a) only

(3) (b)only

(4) Both (a) and (b)

(5) Not attempted

Where did Rao Tularam, along with Rao Gopal
Dev and Rao Dhan Singh organise the Ahirs
and fought against the British in 1857 ?

(1) Rohtak
(2) Nasibpur fort
(3) Ambala
(4) Jhajjar

(5) Not attempted

Where is the Heritage Transport Museum
situated ?

(1) Karnal

(2) Rewari

(3) Gurugram

(4) Kurukshetra
(5) Not attempted

100. Where is Chor Gumbad situated ?

1) A (1) Narnaul

(2) TEET (2) Palwal

T (3) Gurugram
i TRIQER (4) Faridabad
(;; I TG ol =ed (5) Not attempted
(
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